FERBD I S8 4R 45
2200011630 L2

\la,
/1N

SRS

iy

FR 77 8 38 ) B RS e ) 4%

4 fh 72

¥ 2200011630
SRS R

Fro 5 6455

—OZ—%E 4AH



FEAHIEE S0 4R
2200011630 L2

1 SSEIRIERSHIELE

1.1 W22 Sk SRR LB M Eh 7S Rk B 2

(1) BB

[ 5E ML AT R £=100Hz, Ry=2Q, R,=50kQ, C=10 1 F. W8 kgL £ 25 ) i F0
T Rl e, Ad s bR WS B B EE S 18 A

FHAR:  B=Ziu, UK H=lug
2 1

VRS B SN S RGBSR B, R R -

RV ,(mV) (A/m) (mV) (mT)
1 297 171.3 145 3898
2 60 346 10.95 294.4
3 49 28.3 105 282.3
4 435 25.1 10.15 2728
5 20 11.5 74 198.9
6 0 0.0 375 100.8
7 -19.4 -11.2 0 0.0

8 -49.6 -28.6 -6.05 -162.6
9 -61.2 -35.3 -7.55 -203.0
10 85 49.0 10.15 272.8
11 60 346 7.05 189.5
12 49 28.3 5.45 146.5
13 20 11.5 0 0.0

14 0 0.0 -3.95 -106.2
15 -11.8 -6.8 -6.05 -162.6
16 -19.4 -11.2 -7.35 -197.6
17 -61.2 -35.3 -11.4 -306.5
18 -290.5 -167.6 -145 -389.8

e, FTLA/EE]  =389.8mT, =100.8mT, =11.5A/m
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(2) AN[FI 3R B PRV R T [ 2
REFHADS BALE, SCRIMILA AR f=50Hz
M3 H=0 FTAf R 2 =7.75mV, B=0 &XIRif)2  =29mV

H RS A IR ES =0.05mV, =0.2mV

®wE, BAHEE SN =2 =1mT, =1 =0.14A/m.
2 1
NWEREN = (100.7+1) mT, = (11.840.14) A/m

B AN £=150Hz

AR H=0 Fixf RIS 2 =7.7mV, B=0 AXFRifJ2  =29mV

FHEAFE] =ImT,  =0.14A/m, = (101.1£1D) mT, = (12.0+0.14) A/m.
AR ELEE AT A BRI H B AR — 30, X A B DRy s AR AL, A 7= A I URE AR /N,
TR IR AK

(3) FRAy H B0 2 B A

[ %€ £=50Hz, 43R5 &N 0.5s, 0.05s, 0.01s 0N FRs:
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ATUAE Y, BEER R AN, BRI A T AR, H AR . KR
WA , TRT T RIREA A UJE T B, 3 S0 &t BL™ H R 2, SR 05 1 ikt [l 2%
A2 IR

1.2 WERES SIS L

[ 5 SN AR £=100Hz, R;=2Q, R,=50kQ, C=10unF. , PIMIFR{EIFiCTET 2Uc

A 2Ug,, BLHFRH S A . o BRI N ERIR:

,(mV) (A/m) (mV) (mT) _
1 4.8 2.8 0.45 12.1 3476.17
2 11.8 6.8 1.1 29.6 3456.53
3 19.7 11.4 2 53.8 3764.38
4 30.3 17.5 32 86.0 3915.95
5 40 23.1 4.5 121.0 4171.40
6 50 28.8 5.85 157.3 4338.26
7 60 34.6 7.1 190.9 4387.69
8 70 40.4 8.2 220.4 4343.55
9 80 46.2 9.25 248.7 4287.27
10 90 51.9 10.1 271.5 4161.10
11 100 57.7 10.7 287.6 3967.46
12 110 63.5 11.3 303.8 3809.04
13 120 69.2 11.8 317.2 3646.11
14 130 75.0 12.2 328.0 3479.73
15 155 89.4 12.95 348.1 3097.90
16 170 98.1 13.25 356.2 2889.99
17 185 106.7 13.5 362.9 2705.77
18 200 115.4 13.75 369.6 2549.19
19 225 129.8 14 376.3 2307.14
20 250 144.2 14.2 381.7 2106.09
21 275 158.7 14.45 388.4 1948.34
22 300 173.1 14.5 389.8 1792.16
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1.3 A [E SR T RESN ) R o B 2%
[ 5E AN A% f=100Hz, R;=2Q, R,=50kQ, C=10uF, [&EW%IRE N H=400A/m

4 45 N 20Hz B 43 2U; =68.1mV,2U,=42.6mV,2U3=208mV , it 5 11 Bm=937.4mT,
Br=591.8mT, Hc=102A/m

[ 2 AN A% £=100Hz, Ry=2Q, R,=50kQ, C=10uF, [HEHi7iE{E N H=400A/m
2 45 % N 40Hz Bl 43 2U; =68.0mV,2U,=45.1mV,2U3=247mV, it % 1 Bm=958.0mT,
Br=622.4mT, Hc=120.0A/m

[ 5E AMEEAZ AR £=100Hz, R;=2Q, R,=50kQ, C=10uF, [& &7 E{E N H=400A/m
4 45 % N 60Hz I 73 2U; =67.9mV,2U,=46.6mV,2U3=281mV , it 5 1 Bm=943.9mT,
Br=640.5mT, Hc=136.4A/m

A LAE O I KT Bm B AAAS, Br A He 3B K, SRS AR .

2 aiETe
2.1 BEE
1, ARG R 278 SR ARAE — RAUAZAI R A3 B 42, sh A s [nl 4 2 1E
AR RSB ZRIMRLAR S AR, A, B NE IR
2, BREM: RIRERVTI ) AN L AR B AR R A A T AR AL
AN FRIBEAT )RR, P I M I AR 188 KT 19K
3, MO E BN K TAMEI A I, o TR A [l el &, R AR IR A 2 0%
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	1    实验现象记录与数据处理

